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Directions for the fellowing 15 {fifteen) |
hemy ;

Heud the following thiee passajes
and gnswer the {lems that follew eoekh
possage. Your answers to these items
should be based on the. passages only.

Passagéa -1

Eduealion, without a deubt, has ar
important functional, instrumentsz] and
utilitarian dimepsion, This is ‘reviiled
when one asks guestions such ag ‘what iz
the purpose of cducation . The ANSWers,
too offen, are ‘o acouire gualifications
for employment/upward mobility’,
‘wider/higher {(In  terms of ineomne)
opportunities’, and ‘to meet the nesds foi
trained human pewer in diverse fields for

natichal development’. But in its deepest}

fense educatien is not instrumentafist,
That is to say, it is not fo be Justified |
outside of itself because ii. leads 1o t}wE

acquisition of formal skills or of cortain

desired psychological - social attributes- 0.
must be respected in itself, Edueation is
thus not. a commedity tu be acquired or
possessed and then used, hut-a
inestimable imporiance to individuals and.
seclety, although it can qud does have
ENOraiiis use valué Elw ‘atiﬂﬂ then B8

process of

3, but the
wadenmg and turnmg nut n’:-“ thﬂ mind. —

the creation, sustenance and development |
#nd |
an -l

of gelf-critical AWATENEsSs
independence of thought. If is

inner
development,

Process

of  moral —intellectunl |

42 =Xy

What do  you understand by the

‘instrimentalist’ view of education 7

{a) Edutatiom Jjz  fureljonal and

utilitarian in it= purposes,

{hy l«numtmﬁ is meant to fulMil homan

nceds

ta

The purpose of edubation is to train
the humean intellect.,

{c)-

Education is meant ta achicve moral
development.

Acc-::rr{iinb' te the passage, education
roust boorespected dn itself hetuuse

fa) it helps to acquiré qualifications for
employment,
(b) i helps in upward mobility and

acquiring social status.

i) it i% an inner process of moral and.
intellectual devolopment,

(dy Al the. (a), th) and (¢} givern abave

are gorreet in this contexd,

Fducetion i a process. in whi’ch
{a)

prﬂﬁr_gsmnah.
1
(b} opportunities for higher ineome. arc
renerated,
(0] individuals develup  self-critical
awareness and independerce of
thought.

(d}

qualifications for upward mobility
are acquired:
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Pag sage — 2

Chendcal pestivides lose thcir role in. _
‘sustainable sgrienlfure if fhe. pests evolve
registance, The evolution of ‘pesticide
regislance is simply naiural selection in
action. It is almost certain to oceur when
vast numbers of a gengtiivally: variahle
population are killed. One. or a few
ndividuals may be unusnally resistant
{perhaps because they POUSSCHE an enzyme
that can detoxify the pesticide). If the
pestictde  1s  applied repeatedly, cach
Bugeessive generation of the pest  will |
dontain @ larger propertion of reéistan!,._'
individuals, Pesfs typlcally have a ‘high
dntrinsie rate of repraduction, and so 4.
few individuals in onc seneration may
give rise to Bundreds or thonsands in the
nexly and resistance spreads very rapidly
i1 & population. ' ‘

This problem. was often ighored in the
past, cven though the first case of DDT
‘dichlorodiphenyirichioroethane)
resistance. was reported as carly hy 1846,
There Iz exponential imcreasc in  the |
numbers of inverivbrates that have i,
evolved resistance and in the nunther. or
pesticides against which resistance hes
evolved. Resistance has been recorted in
every family of arthropod pests Snviuding |
dipteruns such as mesquitoes 20d house:
flies, -as well as begiles, moths, WaspPS,
fleas, lee und mites) aa wall 83 in weeds:
and ‘plant pathogens, Talke tho Alabamy
leafworm; a moth pest ol cotton, as an
extmple. It has develongd resistance in
one ot more vegions of the world to. aldrin,
noT, dicldrin, endrin, lindane and
toxaphens,

If chemienl pesticides brought nothing
but  problems, — i their gse wag |
intrinsically and acutely unsuslainable —
then they would afready have fallen out
of  widéspread wse. This has not

happened.  Instesd, thair rale  of

P-UTQ-M-OR P4 — X}

prodiction  hag Ancreased  rapidly. The

ratin of cost te benefit for the individual

egriciltural producer. has Temdined in
favour of pesticide use. In ihe 1USA,
mserticides  have ‘been pstimated 1o
benefit the agricultural products 45 the
tune of aveund $5 for overy-$1 spent,

Maoreovsr, i Mgy poorer ceuntrics,
the prospect of imminent mass. starvation,
ar of an. epidemis dizease, are  so
frightening that the soelal and hLealth
costs of nsing pesticides have to he
ignored. In gencral thé use of pesticides is
Justified hy sofective measures sueh ss
Yives saved “wconomic efficiency of faod
productios” und “etal foed praduced’, in
these very: Fundamaonital senses, their uge
may be. deseribed as sustainable, In
praciice, sustdinability  depends  on
coutnaally  developing' new  pesficides

tier keep it fosdst one- step ahead of the.

DESES o pesticites  that dre  less.
sersistent,  biodegradable and maore
accurately targeted at the pesis.

“The evolution of pesticide resistance 1%
natural selection in action.” What does 3t
actually. imply 7

(ay If i  very ‘natural for Inany
srggEhisms fo have pesticide

resistance,

(by Peilicide Tesistance. among
AEganisng is B universal
phenomenon.

{e) Some individuals in Any  given
population show resistance after the
application. of pesticidag.

{d] Neane of the statements ¢ al . (h) and

‘e given above iz corrgct,
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-

With reference to the passage, consider

the following statements :

1. Hse of chemical pestividés hag become
imperative in all the poor countries of
the world.

2. Chemical pesticidés should nol have
#ny rolein sustainable agriculfure.

3. One pest can dovelsp resisiance to
many pesticides,

fa} 1 and 2. only
(b} 3 unly

{e) 1 and 3 only
{dy 3, 2and3

Though the problems asseciated with the
use of chemical pesticides iz known for a
long titme, their widespread use has not
wanpd, Why ?

fa} Alternatives to chemiral pesticides

do nat. exist at all.

(b} New pesticides dre not Invented At

all,
{¢y Pesticides are bicdegradable.

‘) None of the statements (a), (b and!

{e) given atiive is correck

How do pesticides act as agentsior the
selection of resistant individozls in any

pest populatian ?

1, It is possible that in o Past population ks
‘the individuals will hehave differently |

due fo their genetic muieup.

2. Pests do possess thi ability to dstoxify |

1he pesticides.
3. Ewolution of pesticide rewistance is.
squally distributed in pest population.
Which of the statements given above
1glari correct 7

{u) 1 anly
{b} Iand 2 only
{c) 3 only

{4y 1,2 hud 3

e -xX1

Why 15 the use of chemical pesticides
generalty justified by giviag the examples
of poor and developing countries ?

1. Developed countries can nfford to do
adapting o organic farming, but 11:
is  imperalive for poor and
developing countries to use chemieal
pesticides,

2. In poor and developing countries,
the pemicide addresses the problem
of emdemie dizeases of crops and
eares the food problem,

d.. Tra
pesticide use are generally ignored

dgogial and health costs of

in poor and developing countries,

Which of the statements jiven above
is/are correet ?

{a) 1 only
() 1 and 2 only
(¢l 2 only

(e} 1,2 and. 3

{1) Alternative options fo¢ chemical
pesticides should be promoted.

th)] Tea much use of chemicals js nut
good for the ecosystem.

“the.
and

(¢} There iz no scope for
of pesticides

making their use sustainabls,

improvement

(dy Botk the statements () and (b)
ahove arg correct.
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Passage - 3

Today's developing ceonomies use
iess  evergy per wvapita than
develapod coundrizs such ns the United
States did a0 shnilar incomes, showing

the ;}Gteritml {or iﬂwar~mrl‘>£m grawih.
Adaptation and witigatien weed. to be

incomes and foster beiler ipstitutions. A

healihier population Hving in better-buili

houses and with atcess te bank loans and

social security is betler equipped to desl
with & changing eHmale

CHTISRURNCeSR, ﬁn::ivaﬁtmn robhst, vesilient |

thai  promote
reeded  today  because
changes in the climate, already begun,
will intréase gven in the short term

development  polivies,

‘The spraad of economie prosperity has{

slwayz been Intertwined with adaptation
ts chunging ecological conditiors. But as
growth has altered the snronfment and
as environmenlal change Bus neeclorabed,
sustaining prowth  and axﬁfag{:ﬁﬁii‘i@
dementds greater capocty to understand
vur enviroament, gedersts new adaptive
technologies and practices, and diffuse

them widely, AS econuinic hizldrians have

explained, much of humankind’s creative
potential has been direcied at adapling fo
the changing

chanires unfold n the long term,

integratad irrte a  elimate-smark
development  stratepy  that  inpreases
resiience, reduces the thieat of further
#lobal warming, and iraproves |
develdpment @ilcomnes. Adapiation and
mitigation  measegres oan advanee
development, and prosperily ran raise

and  its b

worid, Buf  agaptation |
cannot cope with all the irmpacts related
to elimate change, especially as larger

1R - X))

cHmate.

Countries.cannob grow oui of harm's
way fast encugh to maieh the chasging
And some growth  stratesles,
whether driven by the government or the
warket, can algo add to vulnerability -

_.;_Jari;ic.uiéarly' i they overexploit aatural

resources. Undar the Soviet development
plan,  irrigated  getten uitivation
expanded in water-stressed Ceniral Asia
and od to the near dizappearance of the
Aral Ben, threatening the Bvelthoods of
ﬁq‘termeﬁ .i‘*“‘ﬂﬂrﬂ' and 'fafmérsa Anﬁ
}}Liffﬂrﬂ af.;m %t %‘ti}}“II‘L #Lrgﬁfﬁ — m m&ke
way foros
deve] .sv,'rmnt, zr_lLTEE.nEn i;he p‘n}mcﬂi
Yimeeability of  toastal  seftlements,
wheather in Giinga or in Lonisians,

Which. of the fellowing conditions of
growth ean add to valnerability 7

1. When the geowth oeccurs due o
excessive  odpivitation  of  minersl
rasoarte: and forests.

2. When ile grewth brings shout a
change v homankind’s  creative
potesitial,

3. Whepn the growth iy envisaged only for
”{va;dmg hﬂlibf‘“ and sacial security to
the people.

4. When 't’ﬁe ;;mwth gecars  due  [o

S&i’cmi: the-correc answer using the codes
given balow o

{2} Ionly

(b} 2, $and 4 anly

fed 1 and 4 only

1, 2, 8 and
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Whal ddes low-carbon growth imply in 13,

the present context 7

1. More emphasis en-the Goe of reriewsble
gources of energy,

2. Less emphasis  on  manofacturing
gsector  dnd more emphasls. on
agricultare sector, 11

3. Switching over from  monoculture
practices Lo :m:ixetl_ 'fﬁal‘n‘ii_n'g.

4, Less demang for goods and services,

Select the cortect mnswer using the

godes given below

(ay 1 only 14.

{b} 2, 3 and 4 only

e 1 and-4 enly

{d) Nowne of the above  iniplies

low-carbon - grawth '

Which of the following cenditions isfero

necessary  for  sustainable  ecconomil

growth ? ;

1. Spreading of economic prosperityanore. |

2. Papilarisingispreading <5~ adaptive
techriologies widely, 15.

3. Imvesling on research in adaptatien
and miligation technulogies.

Select the cofrecl answer using the

cotdes given below :

(a} 1 only

(h) 2 and 3 only

¢} 1 and3 only

fely 1, 2 and 3

10 - X}

Which of the following Inferencés can be

made Trom: the passage ?

1. Rainfed crops shotild not be cultivated
in irvigated aress.

2. Farming under wuter-delicient areas
should not he a part of develovment
strategy.

Select, the correct answer: using_ the codes

(a} 1 only
(b} Z only
fe1 Both 1 and 2

{d; Neither 1 nor 2

Consider the Tollowing assumptions :

1. Sustainable economie growth demands
the ure of ereative potential of man.

2. Inlznmive agricuhare can lead o
evalogical backlash:

R. Bpread of economic prosperity can
adversely affect the ecology and

With reference to the passage, which of
the above assumplicns 1g/are vald 7

(a) 1 onky

(b 2 and 3 only
(el 1 and.3 anly
d) 1,2and 3

Which ene of the following stataments
constitutes the cenfral theme of this
passage 7

fa} Countries with greater- economic
prasperity are beller equpperd io
deal with. the <donsequences of
climate change, o
Adaptation and mitigation should be
integrated with development
strategies. o
Rapid ¢conomic growih should not
be pursued by both developed and
developing ceonomics.

Some  countries resort to
overexploitation of natural reseurces
lor thie sake of rapid development,

(b}

{e]

{d)
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Gnnsider tih‘e 'fﬂ‘flﬁwing si,au;m-ants ;

2, Hemne artists are dmg addm‘t’ﬁ.

3, Friztraled people are prone to become
drug addists.

From the above three statersents it may
he coneludad that

{a) Artists gre frustrated,

ity Some drug addicts are whimsical.

(¢} -All  frustrated people are drug
addiets,

{d) Whimsical people are penerally
frustrated.

Exarnine the following statements -

1. Either A and B are.of the same age or
A-iz olderthan B.

2. Either € and D arg of the same age or
1115 older than €.

3. E ig older than C,

Which one ﬂf thc I‘ﬂjuwmg cnn:rlusiuns

{a A is ﬁft.ier than B
(b3 B and D are of the same age
{c} D is oider than C
{d} Az ¢lder than O

Examise the following statements ;

1. Only thoze wWhe have a hsir of
bihoculars. can become the r*emhexs of
the birdwatchor's club.

2. Some members of the  virdwateher's
¢lub have cameras, .

¥, Those memberas who Have cameras can
take part in photo-contests.

Which of the following monclusions can he'

drawn from the absve statemerits ?

wmms e e

fa) All those who have a pair of
bingculars are wmembers '<::I" ‘the
birdwatcher's chab.

{(0) All members of the b:rdWatf:hefa
cliub have a pair of hinoeulars.

ey Al those whe fake part ir
photo-contests are members of the
bzr{iwa_tche_v’% club,

{d) No eonclusion can be drawmn.

....... (12 - X )

19,

T129,

{bj

During the last summer vacation, Ankit
went 1o a summer camp where he took
part in hiking, swimming ard boaiing.
This summer, he s looking forward tb a
music camp where he hopes to sing, dance
and learn to play the guitar.

Based on the above :information, four
con¢iusions, as given below, have been
made, Which ense of these logically follows

from the i'nﬁ_«;rmatim given above 7

{a) Ankit's parents. want him to play

the guitar,

(bi. Ankit prelfers music s sutdoor
activitios.

(e} Aukit gocs to some type of camp
GV ey ROmITer.

ety _snkit hikes to sing and dance.

Three persons A, B and € wore shirts of
black, blue and orange colours (mot
necesganly in that order} and pants of’
green, yellow and orange eolours {not
nucessarily in that order). No person wore
shirt and pants of the same colpur.
Further, it i3 given thai

1. A did not wesr shirt of black colour.

. B did not wear shirt of blue colour.

8. did not wear shirt of orange colour,

A did not.wedr pants of green colowr.

5. B wore pants of orange calour.

Wkat were the colours of the pants an{i

shirt worn by €, respectively ?

{a} Orange and black
Lreen and blye
Yellow and bBlie

Yellow and Wack
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2k Ten new TV shows staried in January — 124,
o giteorms, 3 drama and 2 news mugayines,
By April, only sever of the new shiows ware

atil on, five of them being sitecm .
Based on the ahove informiation, four
— canf::hlsiﬂns,_ as ‘given below, have been
- made. Which one ol these Jogically Tollows |
from the information given above 7 :
ta)" .Only one news raagazine show is gtill
o1, 1
(b} Only one of the drama shows iz gtill,
on; :
‘€ At-least.one discomtintied. show was a]
drama. "+ 25
() Viewers prefer sitcoms ovar droama, )
#2. Read the passage given below and the twe
stalements that (ollew (givin on the basis

ofthe pussage): B

Four men are waiting at Delhi airport:
for a-Mumbai flight. Two are doelors and
the other iwg are businessmen. Two apeak |
Giujarati and twao speal Tamil, No two of |26,
the same profession speak the same.
language, Twe are Muoslims -and two are
Christiang. No' twe of the. same; religion
are of the sameg profession, nor do they
speak  the  same language.  The

Tamil-speaking dictor is a Christian, l

i, The Christian-businessman spealis |
Gujarati, _ :

2. The Guja_rat_ilspeakmg‘ doctor s,
Muoalim, '

Which aof the ahgve statements Js'aro

corTect con clision/conclusions. ?

Ha} | only

thy 2 only 127,

fe} Both I and 2
- {dy Neit}_ier Lnor2: _ _
23. Consider the fullowing siatoment -
“Theugh guite. expensive, televigion is nat

a hixary iterm, as one can learg many

things threugh television.” i

Which one of the following s g valid

inference from the ahoye statement 7

(a} All expensive things are regarded as-
tuxury. -

thi All essential things for learning are
not Juxnry. _ '

{} Televisionis easentidl for learning.

td) Televisiun is not a lugury item.

P.DT(-M-O8 ] {14~ X

Mr. Kumar drives tg work: at an average

speed of 48 kir per hour. The time takon
to- cover the first 60% of the distance i
10 minutes more than the tHime taken to

‘cover the remaining distance, Hovw far iz

his office ¢

{a} 80 km

(b} 40 km

tal, 45 Em =

{d} 48 km ».

(zita iz prettier than Sita but ngt. 48
bretty as Rita, Then,

(a) Dita 13 ot as p‘rﬁ_}tﬁ}r as Gita.

(b} Sita i prettior than Rita,

€} Ritads'nof as pretty s Cita,

id)  Goe is prettior than Rifa,

Givern that,
1. &4 is the brother of B,

"2 Clis the falher of A
3. D is the brather of B,

4. E s the daughter of B.
Then, the uncle of D is

(&) A
(k) B
(6 ¢
(d} E

Exaipine the tollowing statément_s :

1. Rams seored more. than Ranpi.

2. Rani scored Tess than Ratna,

3. Rainz seored more than Rama,

4. Padma scored more than Rama but
lews than Ratna,

fa} Rama

ib} Padma B
{¢) Rani

{#¢) Raina
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Lirections for the foltowing _j’f“.fé;{;ﬁﬁenj'.
ftemy ;

Read the following three Passages
ang. angwer the ifime that folluwe saph _
passage. Your answers o these qtams -
shordd be bused on the Passages only,

'Pasm-ge -

invasions of exotje species intoc new
geographic areus sometimoes  secuy
naturally ard without hamian, ageney.
Rowever, hurman acticns have. increased |
this {rickle te a flood. Homan-cansed
niraduetions ‘may’ oteur  either
accidentally as a conseyunence of human’
transpor, or mntentionally hut illegally
0 serve  some.  privale PUFpDEe  oF
tegitimately to procure some hopead-for
public henefit by bringing a_ pest undsr
coabrol,  producing  new dgrieuliarg]
products ur providing nevel reereatinnnl
apporiunities. Many introduced species
are  assimilated  inty cammunities
without much shvigus effoct, However,
solng have heen. responsible for dramatie
henges 0 native species and natiral
ecommiunities, For example,  [he
accidental infroduction of the brews trec
snake Boiga irregnluris nte (hiem, an
island in the Pacific, has through nest
predation redused 10 endernic T rest bird |
Sspecies fo the point of ext] rcteog),

w A 5V AL

28,

One of Lthe WMAJOr redsons for ihe
world's  groat Wodivetaity i the
betirrence of centors w endemism sp
that similse habilary 4, different pavts
of the world are secupied By different
groups of species that happen to havg
evolved there, ITevery species natorally
had access o everywhere en tho globe:
Wi mhight expect 2 relatively  gmall
pumber of suceessful species Lo hecome |-
dominant in each biome. The extent to
which this 'i::)moggniza-ﬁiﬂn- can happer.
naturally is festrieted by the limited

-

P-DTG-M-GB 18 - X}

powers of dispersal of meat species in the
fase of the physical barriers ihat exist to
dispersel. By virtue of the trensport
Opportunities offered by hamans, these
barriers have been breached by agn
ever-picréasing number of wxotic speries.
The effecls of introductions h avg been to
convert & hugely. diverse range of hseal
community eompositivrs inie something-
much more homogeneous,

i owould be wrong, however, fo
conelude that iniroducing spocies Lo &
region. will indvitably caugse s Becling in

“gpeeies  richiess there,  For axampie,

thete dre ‘nnwmerons speeies of plunts,

invertebrites ared vertebrates found in

continental Europe hut abseni from the

British Iskes (many becnnse they have =p
far' Gdiled in recolomize after. the Jast
glamadions). Their Introduction would be
Vhely 1o aupment British blodivérsity.,
The significant detrirental -effect noted
above arises where ALITCRSIVE  $pecies
provide a novel challenge fo endernic
Biotas H-equipped to deal with ther,

With reforence 16 the passage, which of

the following statements ig correct ¥

fa)  Introduction of exotic spetics inte
new geographical areas always
leads to reduceg biotiverkity

{b)  Exdtic' specisy tntredoced by man
intg new areas have always greutly
altorod the native ecosystems.

ey Man is the only reason to convert 4
hugely  diverse range  of lecal
comInunity compositions into more
hompgeneons ones.

{d) Ndngé of the statements (@), (b} and

(c} is correct in thig context.
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How: is- homogenizativn Prevented undor
ratural conditions 7

{a). ¥ anpnd?

Why dees man intréduce exolie -spocies
into siew geographical areas ?

1. To breed exotic species with local

varigties..
4. Toincrease aprd cullural productivity.

3. For heautification and landscaping.

Which of the above statements is/are
correct ¥

{a) 1 enly

b} 2 and 3 only

fey 1.und g only

{} 1, 2 end 3

(a) Evolution of groups  of
zpecific o local hubilats:

BRECIRS

b} Presence of cceans and mountain
Tanges,

(g} Streng _%;'&ia;:'t'atiun. of greups of

specis Lo local ghysical and elimatic

conditions. b
@) Al the: statements {a}, (b) and <o)

given aliove are corréct in” . ihis)

comtext,

Hew have fhe human heings influenced

the biodiversity 7

1. By.smy ggling Hve organisms,

2. By building highways,

3. By making ecosystenis sensitive o
that néw spdeies azs not; allowed.

4. By énsuring that now spitics do not
have major impact on lodal spesies.,.

Which of the statements given asbove are|

correct ¥

{fe}y 1 and 3
(d) 2 and 4

32, ‘What ean be the mmpact of invasion of

exotic speeies on an ecosystem ?
1. Erosion of endemic spocies,

2. Change: in the species. eompeasition of
the eotnmynity of theeeosysten,

Select the correct answer using the codes

given helow

{8} 1 only

by 2 only

{ci  Boih 1 and. 2
{d} Neither b nor 2

Passage - 2
3

iloit champions of. democraey lave
boain ruther reticent in suggesting that
demacracy woeld  jleelf
development and enhaneerent of sochal
welfare - they have tended to- see them
as good bt distinctly separale and largely
independent  goals, The detractars of
demoeracy, on the otlier hand, ssemed to
have been quite willing to express {hgir
diagnosis of what they see gs serivus

promote

tensions democracy  and
development, "The ‘theorista of  the
vractical split — *Make up your mind ;. do.
yod want demscracy, or instead, dg VL.
want development: ?-‘*_-— oftenn eame, at
least to wtart with, from Bast Asian
_cr:-untr"ies, and  their voice grew  In

influenc a5 sevoral of thess counirics
were immensely sucesssfu} v through the

1970s ard 1980s and gven later —. jn

promoting econumip growth  without

{18 - Xy
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To deal with these issues we have to
pay particular attention to both the
gantent of what ean be called dovelopment
and.to- the interpretation of demouracy Gn
pa-r{-imiar ta the rospective roles of veling
and. of public reasoning). The azsessmeni
of develapment cannot be diverced from
the lives that people can lead and the reai
freedord. that they enjoy. Development can
scarcely be sesn morely
enhancement of imanimate objects of
convenience, such as a rise o the GNP {or
in personal ineames), or industrialization
— important as they may be as means to
the real ends. Their value must depend on
whiat they de¢ te Lhe lives and freedom of
tHe people invialved, which must he central
to the idea of developmaent.

in terms of

If developmeni g undeérstood in a

33

hroader way, with a fecus vn human Hves,
then. it becomes immediately clear thaf
the relation between development mud
dermosracy has to be seen partly in teomo
of their censtitative ecornection,( rother
than only threugh their external tinks.
Even though the gusestion has alien been
aﬁked “whether p{}htlcai freedom  is

the
develapment.

uf
Tar

“congtituent
Their
development  does have
established  ihdirectly thicugh
conlribution to the growih of GNP

components”
relevrance
net 1o

their

be |

36.

{ 20

~ X

According t0 the pagsage, why iz a serious
fension perceived betwesn demoeracy and

development by the detravtors of
demﬂcracy 7
{1} Bemocracy and development are

distihct and separate gonls.

(b) KEconomic growth ean be promsted
successfully  without pursuing a
demecratic system of governance,

fe) Non-demotratic regimes  deliver

ecanomic growth faster and far more
succésslully than democeatic ohes.

All the stalements (a), (b} and (c)

miven ahove are cerrect in this
contaxt)

{d3

According to the passapge, what shouid be
tha ulidmate assessment/aimiview  of
development ?

.a} Risc. in the per capita incume and
industrial growth rates.
Inprovemnent  in the  Human
Development Index and GNP,

Rige in the savings and consumption
trends.

(b
{c)

(¢} Extent of real freedorm that citizens

anjoy.,

vonnaction
and development

What does a “constitutive”

between demeacracy

imply ?

{a} The relation betwesn them Has Lo he
seen through external links.

(h) Politiral and civil rights only can

lead to econemic develgpment.

{c) Political liberties and demoeratic
rights. are essential elements  of
development,

{4y None of the statements {(7), {B) and

{c) given above is corTect in. this
context.
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Passage - 3

The need for Competition Law

becomes move evidont when foreign direct

tvestment (FIH) is liboralised, The |

impact.  of FBI g not  always
pro-competitive. Very offen FDI takes the

form of a foreign corporation acquiring a i

domestic-enierprise or establizhing = joint
venture wilh one. By making such an
acquisition the foreiym _im_réz-jmr Ay
stbstantially lessen competition and frain
a dominanf positien in fhe relevant
market, thus charging higher prices,
Another scenarvio is where the alBlintes pf
fwo separate miultinational companics:
(MNCs) have been established in
competilion” with another
pariicular d»’e_v’eiuping econiomy, following
the Tiberalisation of FDL Subsequently,
the parent companies GVersess mwlerpe.

With the affiliates no Tonger remarning

£ITLED

in al

independent, competition In the ~hagt
country miay he virtually eliminaied apq |'
the .prices of the products may )
artificially i nflated, Most of these afverse
consequences of mergers and aceisilions
by MNOs can. be avoided. if an enective
rompetition law is in place) sAlso, an
gconorny  that  hag implemented  an
effcetive competition law s in a better
pusition to attract FDI then one that has
riet. This is net just hevause most MNCs
are expocted to be accustomed to the.
operation of suth a law io their home|
eountries and know how to deal with such. |

eoncerns but alse that MNCs expect |
tompetition authorities (6 engare a level |,

Playing ficld between domestie and
foreien firms. :

[36.;

37,

(22 - X}

{e)

With reference te.-tho passage, consider
the following statements -

L K is desirable that the imipact of
Foreign Diredt Tavesiment should he
pre-competitive..

2. The entiry of foreign.  investors
invariably leads te the inflated prices
in dowestic msrkots,

Which of the statements giveri above

isfare correct ¢

(a) 1 only
{b) 2 only’
{c) Both dhand 2

{d} Neithir 1 nor 2

Aceording to the Passage, how dudés a
tureign investor dominale the relevant

domestic market 7

L. Multinational companies get
accdstomed Lo domestic laws,
2. Foreign  companips establish  joint

ventures with domestic companies.

3. Affiliates in o particular market/sectar
lose their independence as their parant
COMPARIes overseas ‘merge,

4. Foreign eompanios lower the cost of
thelr products as compared 1o that of
products of domestic companiss,

Which of the statements given abdve are
torrect,

{a¥ 1and?2 oy
(by 2 and 3 orly
1, 2 and & only

(dy 1,2, Zand 4
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What is the inference from tim paszage 7 (40,

{2} Foreign investors and multinationsl
companies  dlwayy  dominate  the
domastic market.

th] It is mot in the best interests of the
domestic econpiiy’ to allaw mergers of
comipaniss.

fe)  With competition law, it ie easy ol
ensure & level playing eld hetween
demestic and foreign fivms,

(d) For countries with open. eCONOMY,
Foreign = Direct  Investmenb s’
eszentizl for growth,

Examine the following statements :

1. Dwateh TV only if T am bired. AT

2. I am never bored when I have 1hy
brother's gompany, :

3. Whenever 1 go 5 the theatre Iiake
oy brother along,

Which -one of the bllowing coucliiziens is

valid in the eoptext af “the above

statements ?

(a} IfLambored, T wasen TV

o) If T am bored, | seek my brothers
CHMpAnY,

) H 1 am not with my brother, then 1]
watchy TV,

(dY IfIam not bored, I do not watch TV,

{24 - X}

Only six roads A, B, €, P, Q and R
cunnect 4 military camp to fhe rest of the
country. Gnly one eut of A, P and B i
open at dny one lime. If B iz closed, so is
@ Only one of A and B is open during
storms. P 13 closed. during fleeds. In this
context, which one of the Dllowing

statements is coriesl ?

(2) Under noringl donditions only three
roads arp, TR,

(b)) During siorms at loast one road s
GPEn,

(¢} During fouds only three roads are
open

{di Duritg ocmlamities all roads ere

- oelpeed,

1. None but “-E;;*ereniq arve members of the
elub,

2.. Boine members of the elub are miurricd

Persons.

3. All marricd
dance,

persons are invited for

Whiel oné of the following tonclusipns

gan boe drawn from the sbove statements ?

fa) AN studenis are invited for dance,

{b} Al married sludents of the club arc.
invited for dance.

(¢y -All members of the club are married
RUTSORE.

(@) None of the dbove conclusions -can

be dravwn.
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Tour pglitieal parties W} =Y a'ﬁd VA

decided to set up a joint candidate for the

The

elections.

formula  agreed by them was the

acceptance of a candidate by most of the |

parties. Four aspiring candidates, A, B,

and I approached the parties for their|

tickets,

A was aceaptable to W but not to Z.

C was acecplable fo W and ¥

I} was acceptable to W and X,

48,

E
A,
. ol
When candidate: B. wes proferred by 3o
' J
and 2, candidate C wus preforred 5y X
and Z; and candidete A. was actapiable |
to X but not to Y; whe got the ticket ?
“fay A
(b) B
@ O
iy D
126 - X}

Comnsider the following statements :

1. All X-brand cars parked here are
white,

2. Boiné.of them have radizl fyres.

8. All X-hrand. cars manufactored after
1986 have radial tyres.

4. Allcars are niol X-brand.

Which. one of the following conclusiuna

can be drawn from. the &hgve ‘statements 7

faj Only white cars are parked here.

() Some. white X.brand ecars with
radiz] lyres dre parked here.

(c) EIZ_‘?trs pther ihan X-brand canmiot
Have radial tyres.

(a) Mozt of the X-brand cars are

manufactured before 19886,

The Third World War, if it ever starts,
will end very quickly with the possible
end of civilization. It is enly the misuse of
nuclear power which will trigger it,

Based on the above statement, which one
of the following inferences is correct ?

{a] Nuclear power will be used in the
Third World War.

{b) There will be .no civilization left
aftor the Third World War.

(¢} The growth of puclear power will
destroy civilization in the Tong run.

(¢} The Third World War will riof take

place,
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the ape of C is 10 vears, what is the

average age of A, B and €2

() 12-5 years

thy 15 years
{cy 175 years
{dY 20 -vears

48. The prohability of gefting a bad pgg “in

47,

P-DTO-M-QF

{8

& 1ot of 400 iz 0-035. What is the

number of bad eggs in the lot ?

(a) 7

(b 14
(¢y .21
(dy 140

What will corne at X' in the following -
serigs ¥

3, 10, 21, 35, 52,74, X

90
(b} 88
(e} 99

@ 100

48,

49,

50,

i 28 - X |

A is the mother of I} and sister of B. B
has a daughtor C who is. married. to F. &
is the husband of A. How iz G related o
B-?

.-{a_j_ Brother-in-law
“(h) ¥a tf;er

fe)  Hushand

td) Uncle

In. hiwinany ways can three different
objects Ay B and C© be arranged ?

far 8
(b} B
) 4
tdy 3

Corisider the patlern of the following
numbers -

1, 1,2 885, 8 13 21, ..

What is the next nomber in the given
pattern ?

) 22
by 32
ey 33
@ 34 -



46.

47,

P-DTO-M-QB

AsmRR g s el AR C A
A 1098 2, A A, BFw C o aifww arg
qUIE P

(a) 12579

by 15t

(&) 176 T4

(dy 209

400 gt ¥ TE W N W P W & @
MR 0085 ¥ 1 R ¥ o gt & =
tine -

fa) 7
)y 14

(e} 21

140

Foyefiefra srgew & ame e Rowar @l ¢

(ay 80
thy 98
{cy 23

(& 10

48,

49.

546,

{29 — %}

ADHFITETN BB e R I BT &
o C & T T Fa g & 1 A ol
G wrR BAwam & ?

{a) T

by TUH

& Afm A A, B 3k C 3 B ysr |

e o T ama &
{g) 8
by 5
© 4

(d; 3

j—g 13 2; 3;. 5:; E‘z 13: 21: e
& ek e faw @faw |
Ry go e H ol S wm @ 7
a) 22
(hy 32
{cy 43

(@ 34



Lirections for the following 6 (six) items :

Reod the following tiwo passages ahd
answer the items that fotlow ench nussage,
Your answers to these flems should he

The pnor
CEOTONTES,
eollectivitisy

espgcighly  in
the siren gth
for

market:
need: Lhat

affer

far their
socio-economic well-being and voice, and

ih'em'seh'_es_,_ enhanpeing
a3 a protection  apainst free market
individualism. ¥ has been argued that a

the form of bottorn up agriculioral
production dallectivities, offers substantial
for  puverty ard

qeope allevialion

agriceitural productivity. To realise thig

creating  morn |
econamme, social and pelitical space for |

‘putential, however, the groups would need |

‘to bevoluntary in natutre, small in =2 %

participative. in  decision making. b

distribution. There are many. notable
examples of such colloctivities o be found
in varied contexls, such. a% im  the
transilion dednemics. All oi them bear
witriess to the possibilliss of succesaful

coeperation under ghvee econditions. And |

ﬂitiloug}a_ the gender impact of the family
cooperatives in the transilion cronnmios.
are unecefltain, the Indian examples of
WOMEnD-0nly farming
considerabie  potential for beneliting
womern,

Eroups, nffer

51.°

52,
group approach to farining, especially in )

53,

Agfriculturgl. collectivities such as group
based. farming can provide the rural poeor

1. empowerinent.

2. ineressed agrienltural prodictivity.

4. surplus  production. of agricultural
crrnmoditics,

-EScTncf;_' the corrset answer usl ag the codes

given below

{a) 1, 2,3 dnd 4

(b) 1,2 and 3 only

() 2 and 1 only

(@ 1,3 andonly

Whiit dose Lhe mithor imply by “gender
impact” 7

{ai+ Weomen are doubtful participanis in

caoperatives,

{3, Family cooperatives may not include
WOIREn,

i Women  benefiting  from  group
farming.

() Women's  rele i trgnsition.

cconomics ig highly restrielive,

Comsider, Lhe fallowing assumptions ;

1. It iz  impcrative for transition
economies  te have  agricultural
callectivities.

5, Agricudtural productivity can be
ingreased by group a;p;ggﬁ'ach 10
farming, |

Wi{_.‘]ie reference fo the above passage,

which of these assumptions isfare valid ?

ta} 1 only

{hy 2 only

{ei PBoth 1 and 2
{dy Neither 1 nor 2
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Passsige - 2 54. According to the passnge, what dors
o o “decpening of demoeracy” mean in the
In a ‘typical Western liberal Western eontext 7
contéxt, -deepéning  of  demmericy e
] iably lesids 46 idatiin of il (2} Congolidstion of group and class
invarianly leads to consolidativn of ‘liberal tdentities.
values. In  the Indiah  context, , 5 ; Iated
I _ 4o ' (b} emoeratizalion ransiate as
derhocratization is tranglated into greater : greater involvement. of poople.
involvement of people not as ‘individuals _
ik ie o cteila tn Tl s . _ oy Democratization aa. greatar
whith is 4 staple to ’lﬂm.m}. rJ.J:-:cﬁ.mrbe, but: involverent of atomized’ individuals
ag communities or groups: Individaals are in the public sphare.
) r ‘ﬂ’lfjd Lth bl.- . h} AT i o ) - .
Retting 1,. b V‘ ,m‘ © Pubiic sphere net (d} None of the statements (a), (b} and
as. ‘atomized’ individuals but as membors |- {cy wiven above is eorréet in this
.. . .. - In !
of primordial communilies drawn on context, \
religious oY caste itdentity. | _ fipation in Tadi
Community-idenitity seems to be the | 5. Gmat’?l'fjf!_mq“m”mmn' in India has nmut
: : necessarily led to
goverming force. It is ot therefors '
surprising that ihé sp-called péripheral Lo, vhe 'fﬁi]}lliilfﬁ of caste and communal
. E LT . identities in the public sphere.
groups  continue [0 maintain  their
identities with reference to the social {b} irrelevance Uif ﬁﬂmﬁiuﬂit}"idfm;ﬁ't}' A
L : raing force in Indian fiiea.™
groups {caste; religion or sect} in .whmh.: & govermmg Joree 1 incian polities
they belong while geiting involved in thel (¢) marginalization of elite groups io
political processes despite the fact €A soetety.
their political goals remain more or lezwss ¢d)  relative unimportance of hereditary
identical: By helping to aridiaty the| identilies over clasy. Jdentities.
olitical  voice of the maiginslized, . , .
_F - P, _l N 56, 'Wliat is the “sitent revolution” that has
demacracy i Indizx has jed to7 logsgning occurred  in the Indian deinocratic
of social strictures’ and.empowered the ‘provess 7 :
eripherals to be confidént of their shility - . _ .
B _P _ . S ¥ (a) drrelevance of caste sand class
4o improve the socisetonomic ¢onditions Meraréhies in political procésses.
in whiich they -aro placed. This iz a _ ] . L ,
e ’ o - (k) loosening of social strictures. in.
significant political proceus that had 1Ed-.tﬂ . vating behaviour and patterns..
a silent revolution through a meaningful o .
t fer of A .1;1 te {¢} Doeia! change through transfer ol
rans er iy PQW&?‘ r::a:m ¥ upper La.l,ls.i. power from Upper caste elites to
elites to varicus subaltern ivoups within subaltern proups.
the demoeratic framework of puablic (d) Al the statébments (a), (b and (o)
gavernance. given ahove are correct in this
context.
(32 - X}
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Directions forthe following 5 (five} items : |68,

Exemine the information gfugn in the
Folloiving paragraph and answer e ffems
that folfow -

Guest ladtores en five subjects viz.,
Heonomics, History, Statistics, Eng]:ish
and Mathematics have to be arranged in a i61.
week from Monday to Friday, Only one
lecture van be arranged “on each dav:
Economics ﬂannat Le 'schedﬁlﬁ& 1
mrdﬂfihie ::rnly e Tuesday. Malhematma
leciure has to be scheduled immiediately [go,
after the day of Economics lecture
English lecture has to be scheduled
immediately before the dav of Bconomies |
icgtnre.

(a) History
(b} Economics l
{¢i Mathemistics.

{d} Statistics 163

58. Which leclure iz scheduled™ lhetween:
Statisticz and Enghish ?
{a} Heonomics
{b} History
{e) Mathematies
(# No lecture

58. Which Tecture iz the last one in the
week ?
ta) History
(b} English

(el Mathamatics

(dy Eeéonoimics

P-DTE-M-08 [ 34 - X}

ok

Which  leclure g scheduted on
Wednesday 7

(@) Statistics

{1} Ecorotmics

ey English

td)  History

‘Whichh lecture is scheduled before the

Mathematics lecture ?
{a} Eeonomics

{by Iistory

{cy  Statistics

{d} English

Two rrla%i, of” cqual v:}]ume _are

mth P They are ﬁten fi lled tﬁ the
brine by adding water. Their. contenls are
then poured nfo another vessol. What
vialirbe the ratio of milk to water in this
vogsel 7

faj 1:38
(hy 2:8
fci 3:2
{diy 5:3

Consider the lallowing statements
* All machines consume ENCTEY.
Electricity provides dnergy.

w po

Electrically operated marhines are
cheap to maintain..

4. Eleetrically oporated machines do. not
eavse pollution.

Which one of 1he following inferances can

be drawn from the above statements 2

{a) All machines ave run by elsctric
energy.

(b} There is ne form of BRIy other
than electricity,

{¢ Most machines are operated on
elactric energy.

{dj. Electrically operaled machines are
preferable o ige.
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64, Examine the fﬂll_:mfi_ng statéments o

1. Néne bt the rich can afford aiz-travel.

2. Some-of thase who travel by air beeome
aick,

3. Some of those who become sick reguire
treatmant.

Which one «of the bhilowing -conchisions

{a) All the rich persons travel by air.

Those who trawvel
zick..

{b)

{¢} All the ricli persons bedémé gick.

{dy Al those who travel b;x gir are rich.

In five fiats, snc above the other, live five

te meet his [AS officer friend. The docto:
ig squally friendly to all, and hay to govo
as frequently as go down..The enginwer
has to go up lo méet his MLA\tzend |
ahove. whose flat Tives the protessor'y

friend,

Trom the ground floor o thi top floor, in-
what order do the five profoasionals Hve ? |

Engineer, Profegser, Dactor, IAS
officer, MLA

(&l

(b Professor, Logineer, Doctor, I[AS
officer, MLA ’
fey IAB  officer; Engineer, Doctor,

Professor, MLA

Professor, Edgineer, Doctor; MLUA,
IAB oificer

{d}

by air beéecame-

for the following 8. (cight)

tiéms

65,

{36 - X'}

The following eight items fguestions
‘English 1o fest the vomprehension of
English. languape and therefore thesc
items do notf heve Hindi version Recd
eqeh. passage and arswer the fdems thai
foltow,

Passage -1

For fourteen and-a hal months I lived
in iy litila cell or reom in the Dehradun
a porb.ef it. 1 was famifiar with every bit
A1y, 1 knew every mark and dent on the
whitewashed walle and on the tneven
floor and the ceiling with ifs moth-eaten
rafters. In the little yard outside 1 grested
Little tufts of prass and odd bits of stene
a4 old friends. I was not along in my-eell,
for several colonies of wisp and hornets

lived there, and many lizards found a

“home behind the rafters, emerging in the

evenings in-search of proy.

Which of the fellowing explains best the

gentence. in the passage “I was almost.a

part of it” 7

fa} 1 was not alene in the cgll,

(5} I was familiar with every bit of the
eali.

() 1 greeied lLittle tufts of grass like old
friends.

(d} 1 felt quite at home in the ceil.
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(a) TR, oaR, 32X, 1AS Fhew,
MLA |

(hy ST, SRR, ek, IAS SR,
MLA

(o) IAS aoreRe, g, Efmex, sy
MLA

@ Wi, TR, R, MLA, 1AS

{37 ~ X}
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Passage -1

in my ll.ttle .CEH or room in the Behradun
ail, and I'begad ta fesl as if T was almost
a part of it-yovas familiar with every bit.
of it, I knew every mark and dent on the.
whitewarked walls and an the uneven
floor ard the geiling with its moth-eaten
raivers. in the little yard cutside I grected
Btte tufls of grass and odd bits of stone
s old"frienﬁs. 1 was net alone in my cell,
for seversl colonies. of wasp and hornets
lived: there, and many lizards found a
'hema'behin'd the ra’ftt,rs emerging in the

Which of the following explains best the
gentence in the passaps “I was dlmost 2
pari of i ?

£a). I was not alens n the cell,

I was familiar with every bit, of the
gell.

I preeted ittle tufts of grass fike old
friends..

()

(d3 I felt quite at homie in the cell.
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. would have taken in a place where there

The passage attempts to describe
{a) the goneral
eountyry’s jails.

conditions  of ths

(b) the _prisnn&r's capacity to natice the
minute detatlz of hig surroundings.

(c} the prisoner’s constious efforts to

ovorcome the lonelimess.
{(d) the prisoner's ability to live happily
with other creatures.

The author of the passage seems to|

suggest that

()
uncongenial surroindings.

(b} the conditiong in Indian Prisons are.

naot bad. '

it 1z net difficult to spend one’s time:

it a prison.

te)

@ J
conditions in our jails,
Passage - 2

We started pitching thd highest

that

Evervthing took five times.as long as it

camp has  ever Yeon  made.

was enough air {o breathe; but at last we
got the tent up, and wien we crawled in.
it was not.too bad. There was only a light
wind, and inside it was not too cold for us
to take off our gloves, At night most
climbers take off their boots; but I profey
to keep them on. Hillary, on the other
hand; tock his off and laid them next g
his sleeping hag,

it is possible to adjust oneself to

there i3 a meed 1o improve the|

69.

|71,

{38 - X

fa}

What does the exprossion “pitching the
kighest earmp” imply 2

{(#) They reached the summit of the

highest mountain in the world.

Those who climbed that far earlicr

(b

(c)
higH,

(d) They veve loo many ¢limbers and

needed to pileh & big camp.

They took a lorg time to ficish the work
bLocanse

{a; they were very tired,
th; there was not engugh aiy to hr;ea‘the.
it- was very-cold.

te)

{d) il was very -dark.

When they crawled inte the tent

they took off their gloves because it
was nat very cold.

{h) they could not take off their gloves
because it was very cold.

they ook off their gloves though it
Was very celd.

{c}

they did not teke off their gloves
though it was not cold,

{dj
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The passage attsmpts to describe

(b

()

the conditicns  of the

sountry’s jails,

Y

goneral

the prizoner's capacity to notice the
minute details of his surrcundings,
(c)

gvercome the loneliness,

{7 the _pris_qner’s_ ability to live happily

with other creaiuras,

The author of ihe pagsage seems 1o
suggest that

(a adj
ureimgental sarroundings,

(b} the conditions in Indisen. prigony are

not had,

it is not diffenlt to spend sne's time

(c}
- in a prison..

there s & wneed to improve thel
conditions in our jails. |
|
|
Tassage ~ 2
We started pitching the Dhighest
that
Bvervthing took five {imes asiong as it

CAIny hag  ever hean. made.
would have taken in a place where there
was. enough air to brestis, but at kast we

got the tent up, and whon wi crawled in,

it was not toe bad: There was only a light |

wing, and inside it was npt too cold for us
to take off our gloves, Af night fiost
climhers take off their boniz; but 1 prefer
to keep them on. Hillary, on the other
hand, 166k his off and laid them next to
hiz sleeping bag:

it is possible to adiust oncsell to]

169,

70,

71.

139 « X}

What does the egpression “pitching the
highest eamp” imply ?

highest mountain in the world,

Those whe climbed that far carlier
did not pitch any camp.

(b}

¢y 8o far nobody has ever dimbed that
high.

fdy They wers iee many elimtbers apd

needed to piteh a big camp.

ThiNpeok . lang time b
{1} thoy were very tired,

{hy there was not onicugh air to breathe.
{6} 1t was very cold.

(dy it was very dark.

When they crawled inte the tent

was not very cold.

(b} they could neot take off their gloves

becattze it was very cold.

they togk off their gloves though it
was very cold.

{c)

thay did noet take oif their gloves
theugh it wag not cold.

d)
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-afiother room. He picked up a bundle to

ammediately fell throupgh the loor bolow
‘where lie -manaé‘ﬁd ts escape througly a-
clear dovrway. The “bundle” proved to he
the haby of the Mayor's wifc, The “Lers”

Passnge - §
A lacal. mun, staying on the fop
flonr of an ofd waoden house, was

awakened at. midnight by a fire. Losing
bis way in a smokefilled pessage, he

missed the stairway aod  went inte

protect his face frem the fire axid

was congratulated by all. w4
The man went inte anothor room bocause
{fa} he did not know where exactly the |
. (
StAITWAY Was. RS
' i
{b} the passage was full of smoke.
ey he was extremely hervous.
() ke stumbled on a bondte 75,
The man was called 2 Nero becauze ho
‘{a) expressed his willingooess to rigk bis
life to save othors.
(b} managed o eseape from the fre
(c)y showed great cowrage in fighting the |
fire. -
(d) szaved a Lfe.
[ 40 - X }

Pirccfions for
Hems :

{o}

the follniving 7 (seven)

Given helow aré sencn iterns, Each ifem
deseribes a situation and s followed by
four possibile responses.  Indicate the
resporse  you. find most  appropriate,
Chaose wnly one response for cach item.

The resporises will be evalieated based on
the level of appropriatenesy for the given

-situation,

Please attempi all the items. There is
no penaliy. yor wrong answers for
Tthese sevont fleme,

You huave differences. of opinion regarding
the' (final  reporl prepared by vour
gunordinate that iy to he subwmitied
wgently. The subordinate is justifvinp
the information given in the repurt. You
wotld. .. '

ta) Convinee the subordinate that h
WTODL.
(b} Tell him to roconsider the results,

(¢} Revise the report on your own,

{dy  Tell him not to Justify the mistake,

You are competing with your bateli-mate
for a prestigious award to be deocided
based on an oral presentabion. Ten
minutes are allowad  for each
presentation. You have béen asked by the
commiliee fo finizh on time. Your friend,

howover, is allowed more than the

sfipulated lime period. You would..

(#) Todge a  complaint  te  the
chairperson aFaingt ‘the
dizcrimination.

(b) Not listen to any justification. Tremi

the eommittee,
Ask for withdrawal of your hame.

{6} Protest and leave thi: place.
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b}

fc}

{dy

Pausage —3

A loeal man, staying on the fop
floor of mn oid ‘wooden holse, was
awakened at midnight by « fire. Losing
hizs way in a2 smoke-filled passuge, he
misged the stairwasy and went
ansther room. He picked tip a bundie to
protect hiz
irmnediﬂta]y fell i:hmugh the: floor below
c_laar doerway. The “bundle” _;_erred ti. he_
the baby of the Mayor's wife. The “hero”

was dongratulated by all.

The man went into apodthcr room because

(2}

EtalfWﬂX WAE,
the passage was full of smoke.
he waz extremealy nervous.

he stumbled on a bundle.

The man was called a heco because he

expressed his willingriess to risk his
lifs th save others.

{a)

managed te escape from the ive..

(b)

showed great coursge in fighting the
'ﬁre.

(e}

saved a fife.

d;

ino].

face from the fire andj

i 41 - X}
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76. You are handling a3 time-bound projedt.,
During the projeci roview meeting, voi |

77.

8,
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find that ‘he project is dikely to get

delayed due. 16 lack of cpoperatinn of the:

team members, You would. ..

(@) Warn the team members for {heir
non-conperation.

fh} Lock intd reasons fop
nonrcosperation.

(e Ak for the replacement of team
members,

{d). Ask for extension of {ime citing

re2sons.

You dre the chairperson of a state sports
committee. You have received a complaint
and later i was found that gn athlete.in

the junior ape category who hag won ol
medal has érossed the age criteria by

'3 days, You would. .,

clarifieation,

Ask the athlete to retorn the medal,

from the colurt: declaring higit.ar uge.

Ask the members of the sSpoTts
committee for their views,

You ure }r-andli_ug & Pﬁﬁrlty project and |

have been meeting all 4 deadlines and
are therefore plannipe your leave during

the project. Your immmadiste boss does not |
frant your leave cius.g the urgercy of the |

projecl. You would...

(2) Proceed on leave without waiting for-
the sanction, '

{h}: Pretend fo be sick and take legve.

() Approach: higher  autherity  to
reeoneiderthe leave application,

{d) Tell the boss that it is not justified,

Ask the screening committee for a.

Ask the athlete to get an afidovit

79,

80.

fe)

You dre involved in setting up a water
SUpPTHY project in 8 remofe sres. Full
recovery of cost is impossible in any
case; The tncome. lévels in The area are
low and 25% of the population s helow
poverty line (RPL). When & decision has
&0 be taken on pricing you Would...

(a) Recommend that the sapply. of water
be free of charge in all respects.

Recommond ihatihe-umr&s TAY A one
fimo Gred sum fﬁ.‘;_‘ the. installation of
taps end the usage of water be froe.

()

_Remmm&nd that} & fixed monthly
eriatge be levied anly oxi the nen-RPL
families and for BPL familics water
should he {ree, {

(c)

Recommend thatthe osers pay a
chargs based on t;h{: consumption of
water with. differentiated charges for
non-BPY and BPL families,

(d}

As & citizen you Have some work with
@ government department, The official
calls you. again and again; and without
directly asking you, serids out feelers.
for & bribe. You want to gt youy work.
done, You would... '

(a] €ive a bribe,

fbi Behave asif you have not understond
the Toelers and pepsizt with Voiir
application.

0 t0 the higher officer for help:
verbally complainitng about Teelers.

Send in a formal copriplaint.,

.
=78
L
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